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* 7 L—R FiE HEFE (24:03)
BRES. 2ESY L—R 15 5 PR
# 7. BTE. HR. 18 HE HEH = 1K 2i ) ) ]
M. il EE © @ @ @ ® ® @ S xf dE B #HE LAY HE BFE LAY
AR 83 6 7 612201118 3 O 7.2 15.6 22.8 0| 3.36 3.448 3.42 4.84 3.507
2608 (MN—%)| 55 4 4 2 9 12 9 15 0 0 7.2 14.5 18.1| 0| 3.36  3.448) 341 496  3.495
(xoft—#%)| 27 2 3 4 3 8 2 3 2 0 7.4 18.5 33.3] 0| 3.38 3473 345 448  3.529
1 INBEX o| @otte#®)) 1 0o 0 0 0 0 0 O 1 0 0.0 0.0 0.0/ 0 345 3548/ 345 8.00  3.548
nme i0 0 0 0 0O 0O 5 3 2 O 0.0 0.0 0.0, 0] 3.38 3.481| 341 6.70 3.501
BRIz 26HA BRI 13 01 2 2 0 2 4 2 O 0.0 7.6 23.00 0| 3.36 3.463| 3.41 5.53 3.508
477% PEZIN i5 0 2 1 2 3 2 4 1 O 0.0 13.3 20.00 0| 3.37 3.458| 3.41 5.20 3.501
LLIE% 3 0 0 0 0 1 1 1 0 O 0.0 0.0 0.0/ 0] 3.43 3.517| 3.45 6.00 3.529
ARt 62 6 612 7 811 9 3 O 9.6 19.3 38.7 0| 3.36 3.423| 3.40 4.43 3.492
9008 (MN—f%)| 38 2 4 7 4 6 8 7 0 0 5.2 15.7 342 0| 3.36 3423 339 457  3.476
(eoft—#%)| 19 1 2 5 3 1 3 2 2 0 5.2 15.7 421/ 0| 3.41 3482 343 447  3.528
N FRlR EnfE 10| ®ofte#®)| s 3 0o 0 0 1 0 0 1 0O 60.0 60.0 60.0/ 0| 337 3448 340 320  3.475
nme 131 0 1 2 2 2 3 2 O 7.6 7.6 15.3] 0| 3.37 3.432] 3.41 5.46 3.495
Btz 33HA R8I 4 0 0 1 1 1 0 1 0 O 0.0 0.0 25.0/ 0| 3.37 3.455 3.39 4.75 3.482
297% PETIN 18 0 2 5 0 4 1 3 3 O 0.0 11.1 38.8| 0| 3.36 3.453| 3.42 5.00 3.504
LB 9 1. 0 2 1 2 1 2 0 O 11.1 11.1 33.3] 0] 3.39 3.452| 3.42 4.55 3.490
AR 77 815 92110 7 5 2 0 10.3 29.8 41.5 0| 3.34 3.419 3.40 3.79 3.476
2715 (MN—f%)| 45 3 6 6 14 5 6 5 0 0 6.6 20.0 33.3] 0| 3.34 3419 339 411  3.463
(eoftb—#%)) 26 5 8 1 6 4 1 0 1 0 19.2 50.0 53.8/ 0| 3.34 3420/ 342 315  3.502
N W 32 20 (=oftc) 6 0 1 2 1 1 0 0 1 0 0.0 16.6 50.0/ 0| 3.36  3.448/ 3.38 4.16  3.459
ne 15 2 2 0 2 1 5 2 1 O 13.3 26.6 26.6/ 0| 3.34 3.416| 3.38 4.73 3.442
frix 278A P28 4 0 0 0 1 2 0 0 1 O 0.0 0.0 0.0/ 0] 3.37 3.452| 3.38 5.50 3.462
477% AR
LB 27 2 3 2 7 3 6 2 2 0 7.4 18.5 259 0] 3.34 3.408| 3.38 4.55 3.464
ARt 67 7221312 4 4 4 1 0 104 43.2 62.6) 0| 3.31 3.381 3.36 3.25 3.455
3004 (MN—%)| 40 3 13 9 11 1 1 2 0 0 7.5 40.0 625/ 0| 331 3381 3.34 3.12 3432
(eoft—#%)| 21 3 7 3 1 2 2 2 1 0 14.2 47.6 61.9| 0| 3.33  3.424| 341 352  3.499
'S AW BN 30 (zoftes) 6 1 2 1 0 1 1 0 0 O 16.6 50.0 66.6| 0| 3.35 3.412| 337 3.16  3.450
nmea 8 0 1 3 0 1 1 2 O O 0.0 12.5 50.0/ 0| 3.34 3.405 3.35 4.50 3.424
Bz 30 PRI 7 0 0 401 0 1 10 0.0 0.0 57.1] 0| 3.34 3.412) 3.34 4.57 3.438
417% REZIN 25 0 5 3 2 7 5 0 3 O 0.0 20.0 32.00 0| 3.33 3.422| 3.37 4.64 3.469
LLIE5 16 0 4 2 6 2 1 1 0 O 0.0 25.0 37.5| 0| 3.32 3.405| 3.34 3.81 3.431
AR 47 9 711 6 6 3 3 2 0 19.1 34.0 57.4 0| 3.29 3.372 3.35 3.51 3.459
2921 (MN—f%)| 22 6 6 5 2 3 0 0 0 0 27.2 54.5 77.2| 0| 329  3.372| 333 254  3.430
(eoftt—%)| 17 2 0 3 4 2 2 3 1 0 11.7 11.7 29.4| 0| 3.36 3473 339 4.58  3.503
5 HE IEH 30 (zoftc) 8 1 1 3 0 1 1 0 1 0 12.5 25.0 625 0| 3.29  3.389| 3.34 3.87 3.444
ne 8 01 0 2 2 2 0 1 O 0.0 12.5 12.5| 0| 3.33 3.426| 3.35 5.00 3.447
AR 2984 PRI 131 3 2 3 2 0 1 0 1 7.6 30.7 46.1] 0| 3.31 3.408| 3.34 3.50 3.437
447 REZIN 23 2 1 5 4 1 4 3 2 1 8.6 13.0 34.7/ 0] 3.29 3.386| 3.33 4.59 3.424
LLIE5 24 4 5 5 3 2 2 1 2 0 16.6 37.5 58.3] 0| 3.30 3.400| 3.34 3.58 3.439
AR 7 2 0 2 3 0 00 O O 285 285 57.1 0| 3.33 3.423 3.35 2.85 3.453
2404 (MN—EIQ)
(Df—AE) 2 1 0 1 0 0 0 0O 0 O 50.0 50.0  100.0, O| 3.34  3.423] 334 2.00 3.438
BEE E3K 40 @oftew) 5 1 0 1 3 0 0 0 0 O 20.0 20.0 40.0, 0| 333  3.436] 335 320  3.459
mea 8 3 2 2 3 2 3 1 2 O 16.6 27.7 38.8) 0| 3.29 3.388| 3.33 4.22 3.430
AR 2454 PRI 17 7 4 2 0 2 1 0 1 0 411 647 764 0 329 3.390 3.32 2.64 3.417
527% REZIN 71 22 21 6 7 3 7 0 4 1 30.9 60.5 69.00 2| 3.28 3.339| 3.32 2.84 3.412
L5 12 2 2 1 2 1 4 0 0 O 16.6 33.3 41.6| 0| 3.29 3.381 3.34 3.83 3.438
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BRES. 2ESY
# 7 BT & AR 2 = 2i <IN BE Ty
R, £in @ ® ® @ L4 #sE AV BE BR LAY
AR 21 4 1 15 2 4 4 0 0 19.0 23.8 285 0 4.33
2608 (MN—#) 15 1 1 1 5 2 3 2 0 0 6.6 13.3 20.0/ © 4.53
Zoft—#) 5 3 0 0 0 0 1 1 0 0 60.0 60.0 60.0/ © 3.20
1 INB K | 0| =ottc) 0 0 0 0 0 0 1 0 0O 0.0 0.0 00/ 0 7.00
nme
ERix 2658 REAIE
477% PEZIN 6 0 0 2 0 2 2 0 O O 0.0 0.0 33.3 O 4.66
LLIE% 3 01 0 2 0 O O O O 0.0 33.3 33.3] O 3.33
AR 17 3 4 2 3 1 2 1 1 0 17.6 41.1 529 0 3.58
9008 (MN—#%) 10 2 3 2 1 0 2 0 0 0 20.0 50.0 70.0/ © 3.00
(oft—#%)| 5 1 1 0 2 1 0 0 0 O 20.0 40.0 40.0, 0 3.20
N FRlE EnfE 10| ®ofte#®)| 2 o0 0o 0 0O 0O O 1 1 0O 0.0 0.0 00 0 7.50
ne i1 1 1 0 0 0 0 O 33.3 66.6 100.0/ O 2.00
ERix 3358 REAIE
297% PETIN 2 0 0 0 0 1 0 1 0 O 0.0 0.0 0.0 O 6.00
LB 7 4 1 0 1 0 1 0 0 O 57.1 71.4 714/ O 2.28
AR 16 2 2 3 2 3 2 2 0 0 125 250 43.7 0 4.00
2715 (MN—#) 8 2 1 1 2 2 0 0 0 0 25.0 37.5 50.0, 0 3.12
Zoft—#) 3 0 1 0 0 0 2 0 0 0O 0.0 33.3 333 0 4.66
N IR 32 20 ®ofte#®%)) 5 0 0 2 0 1 0 2 0 0 0.0 0.0 40.0, 0 5.00
ne 4 0 1 0 0 O 0.0 0.0 25.00 0 5.50
ERix 2758 REAIE
47% R
L5 6 1 0 1 0 2 0 1 1 O 16.6 16.6 33.3] O 4.83
ARt 18 1. 2 3 4 3 5000 55 16.6 33.3 0 4.16
3004 (MN—#) 11 1 0 1 3 2 4 0 0 0 9.0 9.0 18.1] 0 4.54
Zoft—#) 3 0 2 0 0 0 1 0 0 0O 0.0 66.6 66.6| 0 3.33
'S AW HENT 30 ofte#)) 4 o 0o 2 1 1 0 0 0 0 0.0 0.0 50.0, 0 3.75
nmea 2 0 1 01 0 0 0 0 O 0.0 50.0 50.0/ O 3.00
Hrix 30HH REE 11 0 0 0O O O O O O 100.0 100.0 100.00 O 1.00
417% REZIN 3 01 01 0 O 1 0 O 0.0 33.3 33.3] O 4.33
L5 5 3 1.1 0 0 0 0 0 O 60.0 80.0 100.0/ O 1.60
AR 20 2 3 2 3 4 4 2 0 0 100 250 350 O 4.20
2921 MN—#) 9 1 0 0 1t 3 3 1 0 0 11.1 11.1 11.1] 0 5.00
(oft—h%)| 5 0 1 2 0 1 1 0 0 O 0.0 20.0 60.0/ © 3.80
5 HE IEH 30 (zoftc) 6 1 2 0 2 0 0 1 0 O 16.6 50.0 50.0 0 3.33
nmea 3 0 0 1 0 O 0 2 0 O 0.0 0.0 33.3] O 5.66
ERizx 295A FRELIE 1 0 0 0 1 0 O O O O 0.0 0.0 0.0 O 4.00
447 REZIN 3 0 2 0 O O O 1 0 O 0.0 66.6 66.6) O 3.66
LLIE5 9 5 0 01 2 0 O 1 O 55.5 55.5 55.5/ 0 3.00
AR 5 0 2 000 0 210 0.0 40.0 40.0 O 5.20
2404 (MN—Hg)| -
(oft—#%) 1 0 1 0 0 O O O 0 O 0.0 1000  100.0| 0 2.00
PBEEEKXK 40 @ofe®)) 4 0 1 0 0 0 0 2 1 0 0.0 25.0 250, 0 6.00
mea 3 0 0 0 0 0 1 2 0O 0.0 0.0 0.0 O 6.66
R 245 el 3.0 0 00 2 1000 0.0 0.0 0.0/ 0 5.33
527% AR 9 2 2 1 2 1 0 0 1 0] 222 444 555 0 3.33
L5 2 0 1 0 0 0 0 0 1 O 0.0 50.0 50.0/ O 5.00
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* 7Lb—2 Fii HEFE (24:03)
BRES. 2ESY L— A RR
B V. BF4. B HE ¥ = 25 iy
LERES B © @ @ @ ® ® @ B xE @EH HE LY FHE BE LAY
AR 2 0 0 0010100 0.0 0.0 0.0 O 6.00
2608 (MN—f%) 1 0 0 0 0O 0 0 1 0 O 0.0 0.0 00/ 0 7.00
(oft—#%)| 1 0 0 0 0 1 0 0 0 O 0.0 0.0 00/ © 5.00
ma
ARt 2654 REE
477% AR 1 0 0 0 0 0 0O O 1 O 0.0 0.0 0.0 O 8.00
LI
ARt 8 011221010 0.0 125 250 O 4.62
9008 (MN—#%) 5 0 1 1 2 0 1 0 0 O 0.0 20.0 40.0/ 0 3.80
(oft—#)| 2 0 0 0 0 2 0 0 0 O 0.0 0.0 00/ © 5.00
D FRR EnfE 10| ®ofte®%) 1 o o0 0 0 0 0O 0O 1 0 0.0 0.0 00/ 0 8.00
ne 1 0 0 0 O 0 1 0 O 0.0 0.0 0.0 O 7.00
AR 33HA REE
297% AR 310 1 0 O O 1 0 O 33.3 33.3 66.6/ O 3.66
P 30 0 1 1 1 0 0 0 O 0.0 0.0 33.3] O 4.00
Al 14 1 2 31 41110 7.1 214 428 0 4.21
2715 (MN—f%) 9 0 1 3 0 3 1 1 0 0 0.0 11.1 44.4| 0 4.33
(oft—#%)| 1 0 1 0 0 0O O 0 0 O 00  100.0  100.0| © 2.00
N IR 32 20 ®ofte#®) 4 1 0 0 1 1 0 0 1 0 25.0 25.0 250/ 0 4.50
ne 1 0 0 0 0 01 0 O O 0.0 0.0 0.0 O 6.00
ERiz 27HA REZAIE
471% R
LI
Al 12 2 3 211 2 10 0 166 41.6 58.3 0 3.50
3004 (MN—#%) 5 1 1 1 0 1 1 0 0 O 20.0 40.0 60.0 0 3.40
(oft—#%)| 3 0 2 0 1 0 0O 0 0 O 0.0 66.6 66.6| 0 2.66
'S AL T 30 ®ofte®) 4 1 0 1 0 0 1 1 0 O 25.0 25.0 50.0, 0 4.25
ne 2 0 0 0 0 0 O 0.0 0.0 0.0 O 4.50
Bz 30 REE
4177% R
1P 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
Ak 5 1 2 0011000 200 600 60.0 O 3.20
2921 (MN—#%) 4 1 2 0 0 1 0 0 0 O 25.0 75.0 75.0/ 0 2.50
5 HE IEH 30 (zoftc) 1 0 0 0 0 1 0 0 0 0.0 0.0 0.0 0 6.00
ne 1 0 0 0 O 0 0 0 O 0.0 0.0 0.0 O 5.00
AR 2984 REE
4475% AR 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
L5 2 0 0 0 1 0 1 0 O O 0.0 0.0 0.0 O 5.00
Ak 11 0 00 OO OO O 100.0 100.0 100.0 O 1.00
2404 (MN—#g) |-
S-27 (MNGH)| -
PBEEEKX 40 @ofe#®) 1 1 0 0 0 0 0 0 0 0 1000  100.0  100.0/ O 1.00
ne 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
AR 2454 REE
52i% AR 2 0 1 0 0 0 0 1 0 O 0.0 50.0 50.0/ O 4.50
LLFE
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